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SA: HEs
Ha: =X e
oel: ZYAY =X CER-ED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
01 AL el b 465 490 A25
O Mg =7 I (A=Y, SYo| ¢ o
AD(EZ) 465,00084 465 490 A25
BHSHHU (HES) 96,720 100,426 ~3,706
o=l 96,720 100,426 A3,706
o= 2 96,720 100,426 £3,706
201 LBr2 Y| 37,022 37,586 564
01 AbR 2t 21,132 21,696 564
O LeragHI(2Y) 10,644,000 10,644 11,208 ~564
202 04t 46,930 49,400 A2,470
01 20018l 10,450 11,000 550
O 2o (Z) 10,450,000 10,450 11,000 A550
02 8 % 01 b 36,480 38,400 A 1,920
O FAGYI(E) 36,480,000 36,480 38,400 A 1,920
203 22 = bl 10,868 11,440 A5T72
B EEEEEEST 6,270 6,600 £330
O JBSYYRETH(BY) 6,270,0002 6,270 6,600 £330
02 HAMHRE A 608 640 A32
O H=Es(EY) 608,000 608 640 A32
04 BHE2YHRET| 3,990 4,200 A210
SANSEADEAY (302015 (R2)
3,990,000% 3,990 4,200 ~210
405 X+t S| 1,900 2,000 A 100
01 U SE S| 1,900 2,000 A 100
O B MAFSHI(E) 1,900, 0002 1,900 2,000 A100
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